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1. How many teams pariicipated in FIFA |

World Cup organised in Russia from
14 June — 15 July 2018 ?
(a) 32 (b) 34
(c) 36 (d) 30

2. In which of the following countries did
Prime Minister Modi start ‘Ramayana
Circuit' on May 11, 2018 ?

(a) SrilLanka (b) Myanmar
(c) Nepal (d) Indonesia

3. 'Purvanchal Express Way' in Uttar

Pradesh will not pass through which of
the following cities ?

(a) Faizabad (b) Basti
() Azamgarh (d) Mau

4. Accordingto United Nation’s E-Government
Index, 2018 India ranks at which place ?
(a) 9oth (b) os5th
(c) geth (d) ggth

5. Which of the following States was in the
news for the outbreak of Nipah virus
disease in May-June, 2018 ?

(@) Bihar (b) Kerala
(c) Haryana (d) Gujarat

6. Inwhich city the Indian National Digital
Library was dedicated to the nation in
June 2018 by Prakash Javadekar ?
(a) Bengaluru (b) Hyderabad
(c) Delhi (d) Chennai

7. Whatis the rank of India in the world as

per Global Peace Index (GPI), 2018 ?
(a) 13gth (b) 137!

(c) 13gth (d) 134t

() 14 539 15 YT 2018 T ¥ 3 3y,

tﬁrtm(HFA)fésamﬁgﬂmam
Wi fora 7

(a) 32 ) 34

(c) 36 (d) 30
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1 7
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@ ST Y “qatae g onl’ fisffie
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Ja) TeEmE (b) &l
o) HATSHTG 4d) &

@ wgw UL F §-aie guHiE, 2018’ F
STTAR R 1 hIT-H TR 7

(a) 9o {b) 9537
(c) 964l (d) 99 af

5. Fmaffed w=it § # w-<m 2018
fraTe arrE s & veig F s 91 3
o1 7
(a) faEm Ab) HTA

(c) ®iTom (d) TSR
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(b)y 1374l
(c) 1384l (d) 1344l
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10.

11.

12.

13.

15" Pravasi Bhartiya Diwas in January
2019 will be held in which city ?
(b) Vadodara
(d) Pune

(2) Varanasi
(¢) Jaipur

From 4" July 2018 the Minimum Support
Price (MSP) during 2018 — 19 for paddy
per quintal is

(a) Rs. 1,550
(c) Rs. 1,750

(b) Rs. 1,650
(d) Rs. 1,950

Who among the following won the
Pakistan’s Parliamentary Elections in Jﬁly
2018 and became the Prime Minister ?
(@) Nawaz Sharif (b) Imran Khan

(c) Bilawal Bhutto (d) Reham Khan

Who among the following won the
Magsaysay Award, 2018 ?

(a) Bharat Vatwani

(b) Sonam Wangchuk

(c) Both (a) and (b)

(d) None of the above

The 10" ‘BRICS’ Summit 2018 was held
in which of the following countries ?

(b) South Africa
(d) China

(a) Brazil
(c) Russia

Which of the following is a Samhita of
Shukla Yajurveda ?

(@) Vajasanami (b) Maitrayan;

(c) Taittiriya

(d) Kathak

g. 154l \
ﬁamﬁaﬁﬁﬁﬁ%’m? |
(a) amomE@® (D) Wﬁ
(c) SIgLH (d) T A
4@37%201813%@9%5@8@
wmffa gea (va.ga.dl.) 2018 — 19 %+
3 2 |
(a) % 1,550  4b) ¥ 1,650
(c) %. 1,750 (d) ®. 1,950
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14.

Given below are two statements, one is

labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Turkish invasions on
India were successful.

Reason (R) : There was Nno political
unity in North India.

Select the Correct answer from the
codes given below -
Codes :

(a) Both (A) and (R) are true and (R)
IS the correct explanation of (A)

(b) Both (A)and (R) are true, but (R)is
not the correct explanation of (A)

(©) (A)is true, but (R) is false

(d) (A)is false, but (R) is true

15. Arrange the following temples in a

16.

chronological order and select the correct
answer from the codes given below :
|. Brihdishwar temple

Il. Gangaikonda cholapuram temple

lll. Shore temple of Mahabalipuram
IV. Sapt pagoda

Codes :

@ 1, U, v,
(b) 1, 1, N, v
() M, n, 1, v
(d) Iv, I, 1, I

The inscription of Hathigumpha is the
source of information about which king ?
(@) Kharvela

(b) Ashok

() Harshavardhan
(d) Kanishka
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18.

19.

20.

Given below are two statements, one IS
labelled as Assertion (A) and the other

as Reason (R).
Assertion (A) : In 1946, the Muslim
League withdrew its acceptance of the

Cabinet Mission Plan.

Reason (R) : The Muslim League
joined the interim government formed

in 1946.
Select the correct answer from the

codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).
Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(A) is true, but (R) is false.

(A) is false, but (R) is true.

(b)

(c)
(d)
Which among the following sites
provides evidence of domestication of

animals in the Mesolithic period ?
(a) Odal (b) Bori
(c) Bagor (d) Lakhnia

Which of the following pairs is NOT
correctly matched ?

(a) Adina Masjid — Mandu

(b) Lal Darwaza Masjid — Jaunpur

(c) Dakhil Darwaza — Gaour

(d) Tin Darwaza —~ Ahmedabad

Which of the following pairs is NOT

correctly matched ?

(a) Dhruvadas — Bhagat N ‘
amaw

(b) Nabhadas — Bhaktama] =

(c) Raskhan — Rasik Priya

(d) Usman — Chitrawali

(a) (;:n)?nnwrtfr(R)??f:'bi’f:'ff'%'_dan
T (R) e (A) R T ST E

b) W(A)Hmm(ﬁ)aﬁmﬁ%m
F1O7 (R) I (A)a?rar@ﬂq'eﬁ% |

1a  Frafafag § @ fa Tl AEIUTEOT e
i qyy wrer & g e 8 7 -

(a) 37 (b)

4c) IR (d) erEfEl
Frafefad gt § o9 o ghfaa =i @ ?

(@) 3TdH1 wfee - g

Ab) TS ST Oftye — g

A



21. Arrange the following events in their

chronological order and select the
correct answer from the codes given
below :

A. Hunter Commission
B. Sadlar Commission
C. Wood's Despatch
D. Sargeant Plan

Codes :
(@) A B
(b) C B
(c) A B
(d C A

D
A
C

O 0O Q0O

B

22. Whoamong the following leaders founded
the revolutionary organization — ‘Abhinav
Bharat Society’ ?

(a) Bhagat Singh

(b) Vinayak Damodar Savarkar

(c) Barindra Kumar Ghosh

(d) Pulin Bihari
NOT

i —

Which of the following pairs is
correctly matched 7
Rebellion
(a) Santhal

(b) Kol
(c) Khasi
(d) Ahom

23.

Year
1855
1831
1829
1815

Which of the following is the highest
waterfall in India ?

(a) Jog fall

(b) Kunchikal fall

(c) Rakim Kund fall

(d) Keuvti fall

24.

i

21. frmafafigd semati w1 Fasgan

SHa e ST R A 163 1 52 & wd

o O O

D
(2 Frferfian Saaf i faret st dra,
‘i TE T R e ) 2

(@) W far
ORERIRETALIRE ICC
(c) T3 FAT Ay

(d) qiei fererd

frTeiRad 3wl ¥ 9 vl gt @i 2 7
fazie EL

i) HUTE 1855
(b) = 1831
(c) @rHl 1829

(d) TEM 1815

faRad § #19 ya %1 gy 9
ST JUTd ® ¢

$3) M Sy
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23.

24.
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25.

26.

27.

28.

29.

" Which of the following pairs is NOT |

HEFRIFEWFINNE SHIM BRIER

‘Vegetation is the true index of climate’.
This statement is associated with

(a) Thornthwaite (b) Koppen

(c) Trewartha (d) Stamp

In which of the following countries is the
Pampas grasslands situated ?

(a) Argentina (b) Brazil

(c) Chile (d) Ecuador

correctly matched ?

Desert Country
(a) Sonoran - USA
China

(b) Taklamakan —
(c) Karakum -
(d) Gibson -
Arrange the following coffee producing
countries in descending order of their
coffee production (2016, quantity) and
select the correct answer from the
codes given below :
A. Colombia

C. Brazil D.

Brazil

B. Vietnam
Indonesia

Codes :

(a) D,C,B A
(b) C,B,AD
(c) B,D,C, A
(d) C,A B,D

How much the maritime distance between
India and Europe was reduced after the
construction of the Suez Canal ?

(@ 5,000km  (b) 7.000 km

Turkmenistan l

(c) 8,000 km (d) 10,000 km

gEfed @
(a) enﬁeﬁz 4b) I
() ZFraaf (&) T
e P i i & e g o A
fRae?
fa) ST (b) SIS
(c) << (d) FFISI
27 W?ﬁﬁaﬂqﬁ@%ﬁ%?
e <9
(a) GHARA _ .. HAER
(b) TR - =
(c) =HUPH - g
) TireE - Wi
ﬁm%féﬁaﬁtﬁa?qﬁa%%?ﬁaﬁ?ﬂ%aﬂfﬁ
e (2016) (WTET) Wi SAEUE HH H
srafem &t 3N A= fed T 12 8 |El 3T
&1 999 R |
A. HiATHT B. foaaam
C. ST D. TsHf¥™
T
(@) D,C, B, A
(b) C,B,A,D
(c) B,D,C, A
Ad) C, A B, D
T TEF T I Y
REEIC R o
A 0 T 28 ey e k. o
~42) 5,000 fF 1t Y 7
- (B) 7,000
(c) 8,000 3 il



30. Amangethe followingIndian Mete_eorological
Headquarters in Chronological order
of their establishment and select ?four %
correct answer from the codes given
below :

A. New Delhi B. Kolkata

C. Shimla D. Pune

Codes :

@ C D A B

b)) B A D

0D B C A ﬂ
d B C D A

31. Which of the following statements is

NOT correct ?

(a) Black soil is locally called ‘regur’

(b) According to Krabs the regur soil
is essentially a mature soil

(c) Black soils are highly retentive to
moisture

(d) Black soil is found
region

ﬂ

In Himalayan |

32. MacMohan line forms the bou
between

(8) India and China
(b) India and Pakistan

(¢) India and Myanmar
(d) India ang Nepal

ndary
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34.

35.

36.

37.

38.

Natural growth of population is the
outcome of which of the following ?

A. Crude Birth Rate

B. Crude Death Rate

C. Migration

D. Marriages

Select the correct answer from the
codes given below :

Codes :
(a) Only A (b) Only C
(c) BandD (d) AandB

The Human Development Index (HDI)
was first developed by which of the
following ?

(a) UNDP

(b) IMF

(c) UNICEF

(d) UNCTAD

Which of the following is the largest rural
employment programme in India ?

(a) MNREGA

(b) TRYSEM

(¢) Work for food

(d) Skill Development Programme

Which of the following is measured by

- the Lorenz curve ?

(a) llliteracy

(b) Unemployment

(c) Population growth rate
(d) Inequality of Income

Which of the following States is ranked
economically at the top but the lowest
on the basis of sex-ratio ?

(a) Madhya Pradesh

(b) Maharashtra

(c) West Bengal

(d) Haryana

34,

39.

37.

38.

SaET ) Tifas gfe Frer 7 @ e
qfom 2 ?

A. FMfeE §197

B. 7o geg X
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39. Which of the following taxes is levied by

40.

41.

42.

43.

44,

the Gram Panchayats 7
(a) Sales Tax

(b) Land Revenue Tax
(c) Taxon Local Fairs
(d) None of the above

In India which of the following Five Year
Plans was launched with a focus on
sustainable growth ?

(a) 9 (b) 10t

(c) 11t (d) 12t

Which of the following cities in Uttar
Pradesh has NOT been sclected for
development under the Smart City
Development Programme of the Central
Government ?

(a) Lucknow

(c) Ghaziabad

(b) Allahabad
(d) Kanpur

What is the current Total Fertility
Rate (TFR) of India according to the
National Family Health Survey (NFHS)
(2015 -16) ?
(a) 2.2
(c) 3.2

(b) 2.4
(d) 3.4

Which of the following committees was
set up in India for identification of BPL
families in Urban Areas ?

(@) Tendulkar Committee

(b) Saxena Committee

(c) Lakdawala Committee

(d) Hashim Committee

According to the India State of Forest
Report, 2017, what percentage of total
geographical area of the country is
under forest ?
(a) 20.34
(c) 21.54

(b) 22.34
(d) 23.54

-10-

39.

40.

41.

42.
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(a) foshl &t

(b) Y-ToE
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©) 21.54 d) 2354



45.

40.

47.

48.

49,

50.

bl.

52.

When was ‘Project Tiger' launched in

India 7
(a) 1968 (b) 1972
(c) 1984 (d) 1993

Which of the following is an example of
anthropogenic biome ?

(a) Fresh water (b) Grassland

(c) Rain forest (d) Cropland

Which of the following animals can live
for the longest duration without drinking

water ?
(a) Giraffe
(c) Kangaroo

India’s first National Centre for Marine
Biodiversity (NCMB) is located in which

(b) Camel
(d) Kangaroo rat

city ?

(a) Bhavnagar (b) Jamnagar
(c) Mumbai (d) Puducherry
Dachigam National Park is associated

with which of the following ?

(a) Musk Deer

(b) Golden Qriole
(c) vellow-throated Marten

(d) Hangul or Kashmir Stag
e World Biodiversity Day is

When th

observed ?

(a) March, 22 (b) May, 22

(c) June, 23 (d) April, 16
Which of the following is concerned with
soil ?

(a) Edaphic (b) Climatic

(c) Biotic (d) Topography

The maximum concentration of ozone
is found in which of the following ?

(a) Troposphere (b) Mesosphere
(c) Stratosphere (d) Exosphere

(a) 19687H D) 1972 H
(c) 1984 H 4d) 19937
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(c) S, 23 (d) 31, 16
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Q) B (b) iR
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53. As a result of global warming the
frequency and severety of which of the
following are increasing due to global
warming ?

(a) Cyclones only
(b) Storms only

(¢) Hurricanes only
(d) All of the above

o4.  Which of the following is NOT an example

of in-situ conservation strategy ?
(@) Biosphere reserve

(b) Botenical garden

(c) National Park

(d) Sacred groves

55. Ultra-violet radiation from sun light

causes the reaction that produce which
of the following ?

(a) CO

(b) SO,

(c) O4

(d) Fluorides

56. Norman Borlaug was given Nobel Prize
in which field 7
(a) Agriculture

(c) Medicine

(b) Economics
(d) Peace

Which of the following paris is NOT
correctly matched ?

(@) Renneting-Cheese

(b) Genetic Engineering-Plasmids
(c) Golden rice-Vitamin A

(d) Ozone layer-Troposphere

57.

58. Which of the following pairs is NOT

correctly matched ?

(a) Bandipur National Park-Karnataka
Manas Wildlife Sanctuary-Assam
Periyar Wildlife Sanctuary-Kerala
Simlipal National Park-Madhya

Pradesh

-12-
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59. According to J.V. Narlikar which of
the following has so far NOT been

considered as a science ?
(@) Astrology

(b) Astronomy

(c) Cosmology

(d) Nanotechnology

60. Which of the following was invented by
Wilhelm Roentgen ?
(a) Radio
(b) X-Ray Machine
(c) Electric Bulb
(d) None of the above

Double-helical structure of DNA was
given by whom 7

(a) Jacob and Monod

(b) Watson and Crick

(c) H.G. Khorana

(d) None of the above

61.

Which of the following electro magnetic
radiations has the maximum energy ?
(a) Visible light

(b) Infrared rays

(c) Ultraviolet rays

(d) X-rays

Methane is emitted from which of the
following ?

(a) paddy fields only

(b) Termitary only E
(c) Bothirom (a) and (b)
(d) None of the above

62.

63.

which of the following elements is a
semi conductor ?
(a) Aluminium
(c) Silver

64.

(b) Silicon
(d) Lead

59. frferfian ¥ el 3. 1

(d)

61. @ﬁ.w.n.ﬁwma“wqmﬁ
TS ot 7
(a) Sepe gUT TS
ib) afzmsﬁﬁaﬂ%
(c) €H. sl
(d) zqﬁ?ﬁﬁ‘grgiqﬁ
frferfag faga b fyfepront § |
o) It SFfreRcd B & 7
CYRCALREIN
4b) 3T TRl
(c) T fahtoi
(d) X-fertot

%ﬂiﬁéﬁﬁﬁﬁ%ﬂ%ﬁﬁ?ﬁmdcﬂﬁd
(a) FIT-YH & Tal

(b) mﬁwﬁaﬁgﬁ

4e) (a) 3 (b) AT A

(d) STIE F Toreft & 1

62.

63.




f justice, liberty,
ow many types Of .
65. ::quality and fraternity in that order has

heen mentioned in the preamble of
constitution of India ?

(a) 8:5:2,1 (b) 1,3,5,2

(c) 2,5,3.1 (d) 5.2,1,8

66. Who was the UPA candidate for the
2017 Presidential election ?
(a) Ms. Meira Kumar
(b) Mr. Gopal Krishna Gandh;
(c) Dr. Karan Singh
(d) None of the above

67. Who was the first Vice-Chairman of the
NITI Ayog ?
(@) Arvind Panagariya
(b) Raghuram Rajan
(c) Chandrashekhara Subramanyam
(d) Rajiv Kumar

68. Which of the following is the first State in
India formed on the basis of languages ?
(a) Kerala
(b) Madhya Pradesh
(c) Andhra Pradesh
(d) Uttar Pradesh

69. Which of the following is an extra-
constitutional agency ?
(@) Union Public Service Commission
(b) Finance Commission

(c) Election Commission
(d) NITI Ayog

70. The recommendations of Sarkaria
Commission relate to which of the
following ?

() Distribution of revenue

(b) Power and functions of the
President

(c) Membership of Parliament
(d) Centre-State relations

-14-

65. RA o WU A ST

. . BEX
1 =T, AT, THHAT TS Wiy a1
0¥ 3gW fop A R 7 b
Aa) 3,5 2 1 (b) 1,3,5 2
(c) 2,5,3 1 (d) 5,21 3

66. 2017 F UgufgrE g f v 1 Iffeay
hI o7 7 b
(@) g2 o Far
4b) A1, TMare mef
(c) Sl. %7 gz

(d) 3T ﬁaﬂé:ﬁﬁ

67. HIfd & #1 yum Imeme (Iuzmafy)
hIF o7 ?
Py

(b) TR T=H
(C) T EIRaT Gegu=y
(d) Tsfta $AR

68. TimfciRad o o -a1 yra o ¥ s
G 91 U2 T o7 7

(a) e
(b) HET T
fe) ITY gaw
(d) I qew
69. f=ffiad o 9 e dfyurar gen ® ?
(a) T Al Tan AT
(b) fera 3
(c) Far=a s
Ad) ife mam

70. THIET AR ) Teghoan Frfafag o
foroa grafia 2 7

(a) T &1 foraaom

(b) Tgafd i wifdern va =7
(c) HE2 H Hawma
Ad) 2T grary




71.

72,

73.

74.

/9.

/6.

The Earliamentary form of Government
was first introduce in which country ?
(@) Great Britain (UK)
(b) Belgium

(c) France

(d) Switzerland

The Council of States has exclusive powers

in relation to which of the following ?

(@) To initiate proceedings for the
removal of the President

(b) To initiate proceedings for the

removal of a judges of the Supreme
Court

(c) To recommend creation of a new

All India Service
(d) None of the above

In which Part of the Constitution of
India we find the provisions relating to
citizenship ?
(a) Part|

(b) Partll
(c) Part Vil

(d) PartIX

Parliament can Amend the provision

on official language of India under the
Constitution by

(@) a simple majority of its members
(b) 2/3™ majority

(c) 3/4™ majority

(d) support of 1/3 of its members

After how many days of absence from
Parliament without permission can a
M.P. be disqualified ?

(a) 30 days (b) 60 days

(c) 90 days (d) 120 days

Who among the following Governor
Generals ridiculed congress as

representingonly a ‘microscopic minority’
of people ?

(@) Lord Dufterin

(b) Lord Curzon

(c) Lord Minto

(d) Lord Lansdown

-15.

- aTriﬂ
71. Héﬂ% gie{c:qum e ford < .
hl ! . :
@) FefRad (1FH)
(b) ﬁgﬂﬁ
ees |
(d) TEesere
72. !

FrtaTel FHET
(o) ?EMWW%W%@
wE T
(d) YT IS el
73. WRA & Gfay™ & g s § g9 AnTiehd
¥ g yregHEi B 91§ 7
() «“mI Ab) HT I
(c) WP VII (d) AT IX




77. Whatis Dhing Express ?

78.

19

80.

81.

B

(a) Train between Dhing and Kolkata

(b) Nickname oOf Hima Das

(c) Express way between Palwal and
Kundli

(d) Popular Magazine

Mary Kom has recently (Sept. 2018)
been made brand ambassador of which
of the following ?

(a) Swachcha Bharat

(b) BSNL

(c) Beti Bachao Beti Padhao

(d) Project Khel

Supreme Courts judgement regarding
homosexuality is related to which of the
following ?

(a) Section 377 of IPC

(b) Article 377 of the Indian Constitution
() Article 277 of the Indian Constitution
(d) None of the above

Supersonic Cruise Missile BrahMos is
joint venture of which of the following ?
(@) Indian and Russia

(b) India and China

(¢) India and Israel

(d) None of the above

Andrez Manuye| Lopez Obrador is

President elected in July 2018 of which
of the following country ?
(@) Venezuela

(b) Argentina
(C) Mexico ‘

(d) Nicaragua

h

@ T TR
(a) @ AT PSR & TG M
(b) & 3r =1 Jearen T
(c) TTE qUT FVESe! & e Ty 3
(d) TR afeh

ot & 1 BT & 8 (Rramat 2018) fae
1 Y a1 STvg wedet T TR 7
(2) 3 HHd hl
(b) S1.UH.TH.TH. &
(c) %a"fwaﬁée"rmaﬁ?ﬂ
(d) Jioe @

oI TR FreH g T =mare &1 fofg
fforfiaa o forem aafa ® 7

&) YI.ZH. #l 4R 377

(b) R w1 TR 377

(c) WA Tlau™ 1 3<% 277

d) SWHAFETE

80. {UEIF F framset wrevw e 3§ @
eREhT ek e U & 7
Ja) Yd 991 ¥ 7
(b) WA aYT i =i
(C) MTd T S &
(d) ST H FE 7

79,
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82. On the basis of Panama Papers, the

Prime Minister of which of the following
countries was sentenced to 10 years in
jail for corruption ?

(a) Maldives

(b) Trinidad

(c) Pakistan

(d) None of the above

83. As per draft National Register of

Citizen (NRC) of July 2018, which of
the following States more than 40 lakh
illegal migrants were found ?

(a) Nagaland (b) Mizoram
(c) Assam (d) Tripura

84. Who of the following inaugurated

SAFAR (System of Air Quality and
Weather Forecasting) in July 2018 ?
(a) Ravishankar Prasad

(b) Piyush Goyal

(c) Dr. Harshvardhan

(d) None of the above

85. Asperreport released by U.S. Journal,
‘SCIENCE’ on 26" July, 2018, a massive

underground lake has been detected on
which planet ?

(a) Jupiter
(c) Venus

(b) Saturn
(d) Mars

86. American President Donald Trump met

North Korean leader Kim Jong on 12
June, 2018 in which country ?

(a) Malaysia
(c) Singapore

(b) Indonesia
(d) Thailand

10 a4 Srer & g < T 7
(a) HIAGHH

(b) Taf=TE

{e) TIfeREa |

(d) I A IS el

83. ﬂﬁrézmsﬁumﬁﬁmmaﬁm
Ride (NRC) 3 gz 3 gam Tl T
3 40 TE & s Ay T AT E 7
(a) TS (b) Torsirm
(e) 3@ (d) Fga

84. @ 2018 § fra § & foresh g1 ‘AR

(aTg TurerT TE HiEH qaiaE oTTe!) <6
IgEmeq foran man ?
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¢ — |l and select | 87 E’jﬁ"ﬁ@_"ag”;m%I%

7 Match List — I with Lis ' 'ﬁgﬁmﬂw?ﬁm|
’ the correct answer from the codes given ﬁQia | w "
below. . ~-
List -1 List -l (gf\wmasqmm (37 Trwg)
(Samudra Gupta’s (Their Kingdoms) ¥ GURTAIA AWN)
Contemporary Kings A A 1. ‘?’Wfﬁ
of South India) " B T 2. &=
A. Dhananjaya 1. Avamtf a 3
B. Nilaraja 2. Kanchi C. I : IR
C. Ugrasena 3. Kusthalpura D. fersopmin SRINEE
D. Vishnugopa 4. Palaka CTE
Code : A B CD
AB CD @ 1 2 3 4
(a)123|4 b)) 2 1 4 3
by 2 1 4 3 © 31 4 2
c) 3 1 4 2 4 &8 &
d 4 3 2 1 (d) |
88. Which of the following centres related | 88. ﬁmﬁﬂﬁgm T GO aH-8 43
to Indus Valley are situated in Uttar Ty fers ?
R 2 o 21 o & T I H =G F:
Select the correct answer from the | e
codes given below : o =i
|. Kalibanga :
. Lothal I, SRR
IIl. Alamgirpur ' ARSI
IV. Hulas
| R
?‘;dfsli N @ 1, I, I, IV
a ) L] ]
(b) I, Il (b) 1, Il
(c) II, NI (c) I, 1
(d) I, IV Jd) I, v
89. Which of the following institutions | 89. ﬁﬁﬁﬂﬂ?—?ﬂﬁ@ﬂﬁ%ﬁﬂmﬁw
belonged to foreign trade ? off ?
@) Sren VS Negmre @) mh (b) T
() Nanadesis (d) Manigrama ) 9
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90. Given below are two statements, one is

Il

labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Many Sanskrit works
on music were translated into Persian
during the medieval period.

Reason (R) : The early chisti sufis were
fond qf musical assemblies called,
‘sama’.

Select the correct answer from the
codes given below :

Codes:

(@) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(b) Both (A)and (R) are true, but (R) is
not the correct explanation of (A).

(c) (A)is true, but (R) is false.

(d) (A) is false, but (R)is ‘true.

Which of the following inscriptions gives
the information about two Ashwamedha

Yajnas performed by the King Pushyamitra
Shung ?

(a) Saranath inscription

(b) Besnagar inscription

(c) Ayodhya inscription

(d) Hathigumpha inscription

92. The term ‘chakla’ has been used in

Medieval Indian History sources. This

was
(a) Identical to Paragnah

(b) Identical to Sarkar
(c) Territorial unit between Subah

and Paragnah, but not identical to

Sarkar
(d) None of the above

-19.

90. A3 2y o g TR |
=T ] T (H)WW% '

(c) W(A)aﬁ%,%gm(ﬂ)ﬂ?ﬂ%'

(d) W(A}W%,%@W(H)ﬂ‘aﬁ%l
91. g@ﬁiﬁ&jﬂma‘laﬁﬁﬂﬁﬁﬁaﬁéﬁ

a1 s fore o @ Tredt 8 7

(@) TATY @

b) HETR @

() 3TIEdT i@

(d) ®TeTRT g




g3. The Maratha claim of revenue for

94, The mosque-the Khayr-ul-manzil

95.

96.

97.

ion i hat name ?
rotection is known by w
ﬁa) Sardesh Mukhi (b) Chauth |
(c) Abwab (d) Jamadani

opposite to the Purana Qila in Delhi was
constituted by whom ?

(a) Hamida Banu Begum

(b) Salima Sultan

(¢) Jiji Anga

(d) Maham Anaga

Which of the following pairs is NOT
correctly matched ?

Place Leadership
(@) Sambhalpur Surender Sahi
(b) Ganjam Radhakrishna
Dandsena
(c) Kashmir Gulab Singh
(d) Lucknow Liyagat Alj

Which of the following pairs is NOT
carrectly matched ?

State Ruler
(a) Devagiri Shankar Dev
(b) Warangal Ramchandra
Dev
(c) Hoysal Veer Ballal
(d) Madura Veer Pandya

Arrange the following into chronological

order and select the correct answer
from the codes given below

A. Muhammad Shah
B. Jahandar Shah

C. Alamgir II
D. Ahmadshah
Codes :

@ A CD B
b) B A D C
) C AB D
d D B C A

-20-
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93.

94,

95

96.

97.

ey (b) =y

@ S ) et

feeeht & o forven & w B W

R Hiwre =1 ffo e seamar o 7

(a) wHfier amg s

(b) Tl Yeu

(c) STt a7m

Ad) HTeH AT

FtferRe gt o o e gRftm T 2 7
T EG L)

(a) HWA g wEl

(b) T=ITH YIRS SUSHA]

(c) HYR NSIEREE

M) TET IGRIET RS

ﬁw%ﬁaagm‘ifiﬁwﬁﬁﬂ%alﬁ%?
T IITHH

(a) <3 NETEG)

Ab) TTTA a3 3

(c) BrEEe R TeeTe

(d) AU IR gruEy

ﬁﬁﬁf@aﬁmﬁmﬁmm

Gﬂ'{ﬁﬁﬁﬂﬁﬁﬁﬂﬁmmw

shifsTa |

A. TEHT TR

B. SEER 1R

C. 3T |

D. 31893 3=

%

@ A C D B

&AL) B A D C

c) C A B D

d D B ¢ A



98. Which of the following States of India
has the longest coastline ?
(8) Maharashtra
(b) Andhra Pradesh
(c) Kerala
(d) Gujarat

Which of the following rivers of |
Uttar Pradesh has been declared a

‘Biological Disaster due to environmental
pollution ?

(a) Yamuna
(c) Sai

99,

(b) Gomati
(d) Tamsa

100.  In which of the following hills the world

famous temple of Lord Venkateshwar
(Tirupati) is located ?

(@) Shevaroy (b) Biligiriranga
(c) Javadhee (d) Mallmalla

101. Rajasthan desert or Thar desert is the

expanse of which of the following ? %
(a) Pliocene

(b) Paleocene

(c) Pleistocene and recent deposits
(d) Oligocene

102. Which of the following rivers of India

does NOT originate from the Western
Ghats ?

(a) Godavari
(c) Kaveri

(b) Tapti/Tapi
(d) Kabam

103. opment of the concept of |

‘Global Village’ is based on

(a) Social development

(b) Political development

(c) Transport and Communicatign
Development

International organisations

The deve

s

(d)

98. W ¥ Freferfaa gl § @ fraehl aetar

oy Al 8 7
(a) HERTSG
(b) 3Y Y
(c)
4d) TSI
99, I wew &I Frfafiga afeat & e
TR ST 3 HROT Sl el =i
BRI R ?
(a) I ) Tt
(c) @3 (d) wET
forver g sFTar Sehevar (fereafer) et
fr=fofias werfeat § o safcm @ 7
_a) & (b) farefifirfam
(c) Siarel (d) HeTHeddl

@

ST H6E 371 YR HHeo fAfefad
4 forgent famm 2 7

(a) ==

(b) Tl

(c) W vd ITfiHg ST

(d) INfermiq

102.

108,




GCTWY —u?

Which of the following countries has the
maximum production of milk per cow 7
(a) Netherlands (b) Great Britain
(c) Denmark (d) India

105. Which of the following districts of Uttar
Pradesh has the lowest female literacy
rate as per 2011 census ?

(a) Rampur (b) Balrampur
(c) Shrawasti (d) Bahraich

104.

106. The Sultana, Gulabi and Kali Champa
varieties in different regions of India are
varieties of which of the following major
fruits ?

(a) Custard Apple (b) Orange
(c) Guava (d) Grapes

107. Which of the following States is the
largest producer of cardamom and
pepper in India ?

(@) Tamil Nadu (b) Goa
(c) Kerala (d) Maharashtra

108. Match List—1and List -1l and select the
correct answer using the codes given
below the list :

List - 1| List -1l

States Highest Peak
A. Kerala 1. Dodda Betta
B. Nagaland 2. Nand Devi
C. Uttarakhand 3. Anai Mudi
D. Tamil Nadu 4. Saramati
Codes :

A B C D
(a) 1 3 4 2
(b) 2 3 4 1
(c) 3 4 2 1
(d) 1 2 3 4
B

, Frafafias 29 § fred iy oy o
3frad arfts 3cqred gaffysm 2 7
(a) HletcivEs (b) Tz s
(c) =Th (d) ¥rE

105. 2011 T SFIVAT & TR I W2w7 &
Frefeiad S9el § e afier @rem
A I HH B 7
(@) THIT (b)
fe) TerEdl (d) e
¥t < Tt vt seqfia goamn, e
3fR shreft = Frrfirfaa wre weh 3 v
CARET= -
(a) Iwr (b) el
(c) 3mEL (d) 3R

107. T=fcifga ==t § @4 o @ s
< =1 998 921 IAES © 7

(a) aTeHTg (b) T
4e) LA (d) HERTg

108. Gl - 1 3R g - Il =1 frem Fifse afi
T o = ol T e @ 9El I w9

EASIY
~ 1 Tt - I
1:5_;:; Ty el =@t
A. T 1. SrgT«g
B. ANTAvE 2. d=<1edl
C. 3I@ve 3. IR [
D. dfteTg 4. GEA -
E T
A B C D
(@) 1 3 4 2
(b) 2 3 4 1
Ac) 3 4 2 1
(d) 1 2 3 4



108.  Which of the following countries is the

leading producer of lodine in the world ?
(a) Japan (b) U.S.A.
(c) Chile (d) China

110. According to 2011 census, which of the.
following states has the lowest child
sex-ratio both in Rural and Urban areas ?
(a) Uttar Pradesh
(b) Kerala

(c) Haryana |
(d) Jammu and Kashmir

111. According to 2011 census, which of the
following states has the largest rural
population ?

(a) Madhya Pradesh

(b) Maharashtra

(c) Punjab

(d) Uttar Pradesh |

112. Consider the following events.
| 1. First reptiles

2. Firstinsects

3. Shelled animals

4. First mammals.

Arrange the above events in
Chronological order of their origin on
the earth and select the correct answer

from the codes given below

Codes :
(@ 2 1
(b) 2 3
(c) 3 2
(d) 2 4

—~ -k A W
W s AN

@ frefirfiaa 3ui & FH-A0

111. m11ﬁm$mﬁﬁmﬁ

d—ﬂim

W s, &S

o ST



113.

114,

115.

116.

1Y,

118.

118.

‘Saving energy and other resources for

113, 'oaHH o e | T i
the future without sacrificing people’s ﬁmﬂﬁw%ﬁmmﬁ mmﬁlﬁfﬁt
comfort in the present’ is the definition oA 4 Y gy SERILIED R P
of which of the following concepts ? 27
(@) Economic growth (a) o
(b) Economic development (b) amfefes
(c) Sustainable development f£) Wﬁvﬁaﬁm

(d) Human development (d) WHg fa=m

World Population Day is observed on 114. fyvg STEET feam AT Sy 2

(a) 11 JU'Y (b) BMay *a) 11 Wﬁ (b) Bﬂﬁ'clﬁ

(¢) 5June (d) 16 October () 53 1 (d) 16 3z )
Which of the following fixes the poverty | 145 g a9 TR 3 Tyt Yy Ryt
line in India ? T2 7

(@) Central Council of Ministers (a) F=rg Tt

(b) Lok Sabha (b) &% gy

(c) Rajya Sabha (c) TS Oy

(d) Planning Commission () AT 3T

(Now Niti Ayog) (319 Hifq 3T

Which of the following States ranks first | 116. f=fafag T 4 3 TS ) T o
In India in length of roads ? T | 99 9em | 7

(@) Maharashtra )

(b) Uttar Pradesh (E;) %

(c) Madhya Pradesh (c) T wo

(d) Rajasthan (d) TSTEYH

Direct Tax Code in India is related to 117. WA H YO8 X e =t § frad
which of the following ? TafRg e ? |

(@) SalesTax  (b) Income Tax (a) Tkt = Ab) I T

(c) Excise Tax (d) Service Tax (c) IS T (d) T=T=R

The Headquarters of the ‘Green Peace 118. ‘9 fig s‘zﬁmm’ hl ﬂ@ﬂ?ﬂlf@rﬂ R
nternational’ is located at , E 3

I(.?:vt) Amsterdam  (b) Canberra_ A8) mﬁ (b) 3
(c) Ottawa (d) Nagasaki (c) reran (d) FTITHTER o

Index announced by the TR g A v =@

goBvC;rnment of India is associated with @ ﬁqﬂgﬁf@a A o o=k e ?

which of the following ? (a) ?ﬁ

(a) Agriculture (b) TER

(b) Communication

(c) Health (c) Ty

(d) Education 1d) Thne



120.

121.

122.

123.

124,

125,

128,

According to the UN Department
of Economic and Social Affairs
(UN-DESA) what percentage of world's
total population is currently living in
urban areas ?
(@) 25

(c) 45

(b) 35
(d) 55

Which among the following is the
secondary pollutant ?

(a) Smog

(b) Carbondioxide

(c) Carbon mono-oxide

(d) Fly ash

In which of the following ecosystems the
species diversity is relatively higher ?
(a) Deep sea

(b) Tropical rain forest

(c) Coral reefs

(d) Desert

Which of the following is NOT obtained
from insects ?
(a) Silk
(c) Lac

Which of the following represents the
decibel level of rustling of tree leaves

in normal circumstance ?

(@) 10db (b) 20db
(c) 60db (d) 100db

United Nations Conference on climate
change, COP21 was held in

(@) Moscow (b) Paris

(c) Berlin (d) Tokyo

When was India’s first National Action
Plan on Climate Change released 7
(a) 2000 (b) 2008

(c) 2012 (d) 2015

(b) Honey
(d) Pearl

-25-

|

|

il T 3 SR T AT A

fsm (UN-DESA) % SFaR oed 1 1
e 1 fed ST e PR
Pram FaT e ?
(a) 25 ) 35
(c) 45 (d) 55
101 Frefofa § # e 9guh T 7
(a) I
(b) FIHTSTZATHIIES
(c) <hTEA HIAI-TFTES
(d) TS U
122, ﬁm%ﬁﬁﬁ%ﬁﬁa‘iﬁﬁwﬁwﬁﬂ
S FyeraT aTerd: SThT e Bidl § 7
(a) TR
Ab) I ~ffg et a4
(c) e U
(d) WEEI
103 Freferfad 3 S Fidi @ I TR RlaT © 7
4a) @ (b) YEe
(c) @@ (d) AT
124, Trfafaa 3 = am offeafa @ ga %
gﬁmmmﬁwm‘fﬂm
.(35 10 db (b) 20 db
(c) 60db (d) 100 db
copm;ﬂmﬁag\:rgmimmﬁm
(c) s o (d) A
ESEIRRIEC LR
mmmﬁgﬁmwm
@ 2000% TR 7
(€) 20129 (b) 2008 3
—~d) 20153



107, Which is the most stable ecosystem 7
| (a) Marine (ocean)
(b) Forest
(c) Mountain

(d) Desert

128. Incinerators are used for which of the

following ?
(@) Burning wastes
(b) Putting wastes into them

(c) For cutting green trees
(d) For making fertilizers

129. What is ‘Green House Effect’?

(@) Increase in global temperature

(b) Decrease in global temperature

(C) Increase in sea water temperature
)

(d) Increase in temperature of rivers
and lakes

130. Which of the following is the main

component of the natural gas ?
(a) Ethane

(b) Butane
(c) Carbon mono-oxide
(d) Methane

131. Which pain killer given to cattle is

responsible for near extinction of
vultures in India ?

(a) Ibuprofen

(b) Acetaminophen
(c) Asprin

(d) Diclofenac

132, Which of the following countries was the

largest emitter of CO,, in 2015 2
(@) China (b) U.S.A.
(€) India (d) France

127. wﬂmwwﬁ@ﬁﬁéﬂﬁqﬂ%?
fa) TR (HETHTR)

() ST HFIU F T F fyu
(b) FSTFTTH T vy F fyw
(c) ﬁﬁ'ﬁﬁm%ﬁ—m
(d) @R TR % o
129. ‘BRA TRy w7
Aa) dEmamd iy
(b) Sfvaes a9 o =y
(c) WP Se o am 3§ g
(d) it v fareit o o 3 oy

130. ﬁn%f‘@aﬁaimr@iﬁﬁamga
g 7

132, Frfcrfaa 2ut & 9-m1 2015 3 wath®
CO, T IcHiah o7 7

(a) = Ab) €.1. s
(c) wWma (d) wrE
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134,

135.

136.

137.

138.

Bhopal gas t
India is a disast

er free count
Mangroves reduc e

e the

Cyclones. i
Select the Correct
codes given below -

S

answer from the

Codes :
(@) 1,2and 3 (b) 2,3 and4
() 1,2and 4 (d) 1,3and4

Which of the following has the highest
velocity ?

(@) Cosmic rays

(b) Light

(c) Electron

(d) Supersonic wave

Graphene is

(a) An alloy of carbon

(b) Nano structure of carbon
(c) Isotope of carbon

(d) None of the above

The sound will have highest velocity in
(a) Vacuum (b) Air
(c) Water (d) Steel

A powerful eye irritant in the smoke is

(a) Ozone

(b) Sulphur dioxide
(¢) Carbon dioxide
(d) Peroxyacetyle nitrate 4

The book ‘A Brief History of Time' has

been written by whom ?
(a) Stephen Hawking l
(b) J.V. Narlikar
(c) C.V. Raman
(d) S. Bose

136.

137.

133. i dds-AFuadie !

1. Tepicieh 3ATqeTd aifereh & faspasfiet
290 o el 8

2. qMTa Mg Traet qEa-Afda ot

3. WRd 3MIET-Teh <91 B

4. BANE FshaTd] &1 9T FH H B

= fau e § & 9e 3w gy
- T

(@) 1,24d913
(c) 1,247 4

Ab) 2, 37 4
(d) 1,3au 4

134, Freferfa § fraem 37 sty S & ?

Aa) wfares feRto
(b) WeTEl

€) WHRH
(d) weafTe qaT

I6R B B




139. Which of the following is the richest
source of Vitamin C 7
(a) Orange (b) Apple
(c) Carrot (d) Amla

140. Which of the following planels may be
suitable for existence of life ?
(a) Mars (b) Mercury
(c) Venus (d) Jupitor

141. Einstein was award Nobel Prize for of

his theories
(@) Theory of relativity
(b) Theory of photo electricity

(¢) Theory of specific heats
(d) Theory of Brounian motion

142. Which of the following energy sources

produces NO atmospheric pollution ?
(@) Nuclear energy

(b) Solar energy

(c) Petroleum energy

(d) Coal energy

143.  The Directive Principles of State Policy

may be classified in to which of the

following parts for the sake of convenient
study ?

(@) Socialist

(b) Liberal intellectualistic
(¢) Gandhian

(d) All of the above

144. Which of the following was called

as Economic cabinet of India by
Ashok Chandra ?

(a) Planning Commission

(b) Finance Commission

() Central Cabinet

(d) Administrative Reform Commission

139. fr=fcriaa nawm fafm ¢ @ aren

2211
(a) M (b) Ha
() TSN Id)  Fiaen
140. Fafafiaa w@i o a7 s 3 wifes &
fere 39 &1 w2 7
fa) T (b) Fu
(c) TH (d) Jeerd
141, A 1 Fe 0 3 3% e faea &
foTe Free qreRn fan ma a7

Ja) anEa F frer & e

4b) mﬁ'@'ﬁfﬁihdl?‘%ﬁﬂn
(c) fafire 3an ¥ fagra & foo
(d) st nfa & fagra & fon

142, Fr=afafaa 3o 961 § 8 9919 ygianim
WYY AE IR Al B 7
(a) =ivwFr I

e =1 9 8 9 & sl 3 g Ry
T HFA B 7

(a) HOTSETE

(b) W Nigwaram

(c) mMHiard

d) I9UE it
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145.

146.

147.

148.

149,

150.

Who was the Chief Justice of India when
Public Interest litigation was introduced
in the Indian Judicial system ?

(a) M. Hidayatulllah

(b) A.M. Ahmedi

(c) P.N.Bhagwati

(d) A.S. Anand

Who is the author of the book “The
Accidental Prime Minister’ ?

(@) Rajdeep Sardesai

(b) Karan Thapar

(c) Kuldeep Nayar

(d) Sanjaya Baru

Mention the correct date of the |ast

meeting of the Constituent Assembly
of India.

(@) 26 Nov. 1949 (b) 5 Dec. 1949
() 24 Jan. 1950 (d) 25 Jan. 1950

Which of the following CAN NOT be
dissolved but abolished ?

(a) House of People

(b) Council of State

(c) Legislative Assembly

(d) Legislative Council

When did the Government of India
establish the independent Ministry for
‘Women and Child Development’ ?

(a) 1985 (b) 1986

(c) 1987 (d) 1988

Whatcan be the maximum representation

from the Union Territories to the Lok
Sabha ?

(@) 15
(b) 20
(c) 25
(d) None of the above

e ST 3 e Sfea AT
- %mﬂmwmm*ﬂ@
=raefier i & 7

(a) . feemagg
(b) T.UH. IEHal
(g) Wt . Wl
(d) T TH. AE<

147. 9Ra 1 Glau= 991 6 21740 S5 Hr g
fafyr samge)

(@) 267d. 1949 (b) 5f&H. 1949
e) 243F.1950 (d) 25%H. 1950

(b) TSI T
(c) Toum w

. 4d) Taum ufge

(49) I TR 2 “wen e ey
%Qmﬂ?mmwﬁaﬁ;mm?
(@) 1985 (b) 1988
(c) 1987 ) 1988
SRR Wﬁﬁfﬁa
(@) 15 %ﬁmﬁmgq
b) 20
(c) 25
(d) wqﬁﬁa%qﬁ



